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. Always we start the addition from

6. 67,980 + 56,543 =56,543 +

Chapter- 4

Addition

WORKSHEET

A. FILL IN THE BLANKS.

. The numbers being added are called

. The result of addition is called the

place.

If ‘0" is added to a number, we get the number

In whatever order three or more numbers are grouped for the purpose of addition,

their sum remains the

B. CHOOSE THE CORRECT ANSWER.
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a. 1 b.0 c. 67,980 d. None

56 + =0

a. 1 b.0 c¢3 d.4
. The result of addition is called the

a. Sum b. Difference c. Product d. None
. 41234+0=

a. 0 b.1 . 41234 d. None
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10. The numbers being added are called

a. Sum b. Addends c. Difference d. None

C. DO AS DIRECTED.

11. Arrange in column and add.
2,56,780 + 45,234 + 4,789

12. Write the numerals for the following number names and then add.
Two lakh sixty thousand nine hundred four; and eighty six thousand seven hundred
forty.

13. Add the following.
24,54,000, 5,674, and 4,52,356
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D. SOLVE THESE.

14. In a city there are 56,395 men, 36,120 women and 12,634 children. What is the total
population of the village?

15. Rakesh bought a painting worth Rs.2,30,541 and a bicycle worth Rs.16,789. How
much money did Rakesh spend?
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